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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There arce TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number ol marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off. |


https://prepp.in/

www.prepp.in

prepp

Your Personal Exams Guide

1. TR | Gwred "afg F I FRa H a=d o, Gdifdd YWTE @ | F Y 76 GeRd € 7
wafy GWerdT & 37 S 8 GRS Suersd € 7 (ITR 150 Wl H Q)

Among several factors for India’s potential growth, savings rate is the most effective one. Do

you agree ? What are the other factors available for growth potential ? (Answer 1n 150 words)
10

2. s-va fatal F we 1 W A 7 fafmin gee 6 fawaar & wRe saEy | gEl-nae
frafat i e sfis sm-waw Fafa & fo, SuEl &) g3EY | (ST 150 TR H Q)

Account for the failure of manufacturing sector in achieving the goal of labour-intensive

exports. Suggest measures for more labour-intensive rather than capital-intensive exports.
(Answer 1 150 words) 10

3. Tt -l wmiierd (RddY) wTed ¥ sieia aach IUshAl & HIEAH § WRa ¥ famadel &
frra &1 Qe FIfTe | Za ey T WRERO % aEe i a et € ? (SR 150 el
dq)

Examine the development of Airports in India through joint ventures under Public-Private

Partnership (PPP) model. What are the challenges faced by the authorities in this regard ?
(Answer in 150 words) 10

4, RS H et % 7E N § g fafler vt B wifoat @ wve Ff | 37 wicdr F wRa 7 IS
S SR @ ERe § TR e FeTaa WM @ 8 ? (SR 150 ¥l H )

Explain various types of revolutions, took place in Agriculture after independence in India.
How these revolutions have helped in poverty alleviation and food security in India ? (Answer

in 150 words) - 10

5. AN WAl DIE THHAT IS bl 3T EIRITT b FAT HRON § 7 TR HRAT ShE TR/
Cramt ) wEe-ariie @t @ o oM ¥ fea yer @g@Es gt ? (IR 150 U=
q 3

What are the reasons for poor acceptance of cost-effective small processing umit ? Iow the
food processing unit will be helpful to uplift the socio-economic status of poor farmers ?
(Answer in 150 words) 10

6. cahifern, Sarefien, aftme FifE @ ™R e afeq gfawga fofeala quet 7 9TER w=A
¥ fou wra § @ St fFfean dfm e o1 @ € | |ed H auia it & wom iterem
SRR T BT £ SR A JUERI Gl dddT W 36k 1 a2 7 (IR 150 =gl W Q)

Stem cell therapy is gaining popularity in India to treat a wide variety ot medtcal conditions
including Leukaemia. Thalassemia, damaged cornca and severe burns. Describe brictly what
stem cell therapy is and what advantages it has over other treatments ? (Answer i 1[50 words)

10
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7. WRA 3 9<a 9 "7 kel el afea Ama-dea @iy fMyE # s@anyaror a%aar vd
F1 2, oferd ama-afea s@ker fayat ¥ way o1 aea 78t ar ¢ | ag-afea safker ffam
dE & ° WRIRRE 9 quErdiEe gfed qe wead #91 § 7 GHTATEATe S axieAm
FHAT | (TR 150 9=T H 5)

India has achieved remarkable succcesses 1 unmanned space nmmssions including the

Chandrayaan and Mars Orbitter Mission, but has not ventured into manned space missions.
What are the main obstacles to launching a manned space mission, both in terms of technology

and logstics 7 Examine critically. (Answer 1in 150 words) 10
8. ag &gd a9l 9ed <l Sld Agl © del dledl ol ST Ush deheddl 91, YX<] el 4% o H Ush

JrecfereraT =Fdl ST Tl ¢ | Aicdl & W24 § B 9Td THl 9 U9 9g1Eak0T W 36 adTiad
gd R F9] i | (STR 150 =5 H 3)

Not many years ago, river linking was a concept but 1t 1s becoming a reality i the country.
Discuss the advantages of river linking and its possible impact on the environment. (Answer 1n

150 words) 10

9, Wwﬁﬂmﬁawﬁmﬁﬁﬁﬁﬁﬁqmmmﬁﬁéﬂﬁﬁql
(ITR 150 Y=gl H <)

Discuss the potential threats of Cyber attack and the security framework to prevent it.
(Answer in 150 words) 10

10. WRA F IWR-TAE YU Fgd W qrd d fage-ufad g | 3@ uew A dvE fagie @
Afastiferar & qea wrot &1 fayese fifse | (SR 150 a5t 7 )

The North-East region of India has been infested with insurgency for a very long time. Analyze

the major reasons for the survival of armed insurgency in this region.(Answer in 150 words)
10

1. 2017-18 & T &5l & MY 2@l § ¥ UF 290 R &) BIARG HATl, FAEE ST
R WRA & &= ST © | 36 298 ol WH A & o 5912 2017-18 ¥ R g waTea
Sural & fagermn ST | (IR 250 e H ©)
Onc of the intended objectives of the Union Budget 2017-18 15 to “transform, energise and clean

India’. Analyse the measures proposed in the Budget 2017-18 to achiceve the objective. (Answer
m 250 words) 15

e, VYRR Saig # ghd -9 - IA1q (-aﬁ S1.41.) < wwy g@gfg | sttt wgtg <2 tussgdal
T e ) SR JaEt | SREIfe-Aifd # e § feu o aReds sitnifen watg ) @ Sgm
H oyl 9 99 © 7 (ST 250 91 H Q)

“Industrial growth rate has lagged-behind n the overall growth of Gross-Domestic-Product
(GDP) in the post-reform period.” Give reasons. How far the recent changes in Industnal-Policy

arc capable of increasing the industrial growth rate 7 (Answer 1in 250 words) 7+8=15
13. ‘Tt @afy’ & waaE afiesm F47 € 7 F IRG 38 USR & §91g TR Rl ATHE Rl B R 7

fagergor ifsn wa weelt wafy B9 v e | (SR 250 =3l H <)

What are the salient features ot ‘inclusive growth™ 7 Has India been experiencing such a-growth
process ? Analyse and suggest measures for inclusive growth. (Answer mn 250 words) 15
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14. qEF A H 99 AR N8 dl FRal €5 999 o o0 Fa1-F1 96T FRUl § 7 dF | FEAl R I9A b
feraxe A, gex fafaeiemor foa TR geear g1 2 7 (SR 250 9=l # ©)

What are the major reasons for declinimmg rice and wheat yield n the cropping system ? How
crop diversification 1s helpful to stabilise the yicld of the crops mn the system ? (Answer i

250 words) '. 15
15. agTiatcha T wfaew, aen fafagar @R Fus & artds feufa =t fea mer wwfaa w4

e 7 o9 3R HHAA FUR h (AU, FEd S, FAad G T AR G TEER T
e © 7 (ST 250 =@l H Q)
How do subsidies affect the cropping pattern, crop diversity and economy of farmers ? What

is the significance of crop insurance, minimum support price and food processing for small and
marginal farmers ? (Answer in 250 words) 15

I6. AR H AW fase 3R WRNRRER 6t |9ty R fawm &1 faexw ueqa &ifve | wka &

dI U [RAFex HIHshA &1 #4T oH © ? (IR 250 ==l H <€)
Give an account ol the growth and development of nuclear science and technology in India.

What is the advantage of fast breeder reactor programme in India ? (Answer in 250 words)
1.5

17. ST gREcE U divad @Ed] § | YRG Sodd IRaaq @ ohE YR WA BT ? Seary

"‘.

IRadd & gRT 9Rd o fermedl 3R aHgadd (od Toha Jar warfad 8 7 (ITR 250 U=
7 3)
‘Climate change’ 1s a global problem. How India will be affected by climate change ? How

Himalayan and coastal states of India will be affected by climate change 7 (Answer in 250
words) 15

18. [GaFR 2004 1 GATHI YR dfed dige ol # J&mgl adt o0 | g4l & g & o ek
HReD! UK T Silad gy Adeqeweq] R g4 97l I9eh UHE U< =] o0 | UA.E1.UH.U, <
feem el (2010) & USRI H, =TH YR <l geHH & CRIA AIRIH Rl R A 6 JaTal
S Topamtaty o1 guiA HITT | (SR 250 W= ° Q)

On December 2004, tsunami brought havoc on fourteen countries including India. Discuss the
factors responsible for occurrence of tsunami and its cffects on life and cconomy. In the light
of guidelines of NDMA (2010) describe the mechanisms for preparedness to reduce the risk

during such cvents. (Answer in 250 words) 15
19. ARA H Az fear Ue TR FFF AR a9eq] a908] & €9 H IW Gl ¢ | ITIE Sared o

g4, 30 R & fEur & wroi vey gRkomt @ fayawn fife | (SR 250 = 8

Mob violence 1s emerging as a scrious law and order problem in India. By giving suitable
examples, analyze the causes and conscquences ol such violence. (Answer in 230 words) 15

A

20. ‘Hld‘*’qlq h U‘QIIaCI[%I ﬂqu LT & o Uk MR T_J__‘J"ﬁt.‘ﬁ % | 34 c{@ﬁ g qahe T Taaem
A &k dd ATT FAT-F] A A © 7 ATAehl LT & yH@ g #91 € ¢ (IT 250 =i
7 7)

The scourge of terrorism 15 a grave challenge to national securtty. What solutions do you
2 & & ¥ Y

sugpest to curb this growing menace 7 What arce the major sources of terrorist funding

(Answer 1 250 words) 13
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